



Microflex®, 93-843 Glove, Powder-Free, Nitrile



Product Highlights

- Comfortable nitrile protection for everyday use
- Textured fingers
- Combines comfort, strength and protection

Product Applications

Personal protection
Occupational health and safety
Sample protection
Process protection

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD 5 Tanners Drive

MK14 5BU Milton Keynes
Email: infoline@starlab.co.uk







General Data

| | See variations |
|-------------------------------------|---------------------------------------|
| | |
| Pack Size | 1,000 Pcs. (10 Boxes × 100 Pcs.) |
| Length | 245 mm |
| Sterile | No |
| Material | Nitrile |
| Finish | Textured fingers |
| Interior | Powder-free |
| Thickness (Finger) | 0.18 mm |
| Thickness (Palm) | 0.11 mm |
| Color | Violet blue |
| Ambidextrous | Yes |
| Cuff | Standard |
| Elongation after aging (%) | 500 |
| Elongation after aging (MPa) | 27 MPa |
| Force at break after aging (N) | 9 N |
| Force at break before aging (N) | 12 N |
| Minimum elongation before aging (%) | 550 |
| Reusable | No |
| Shelf life | 3 years |
| Tensile strength before aging (MPa) | 32 MPa |
| AQL | 0.65 |
| EN 1149 | In compliance, anti-static properties |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD

5 Tanners Drive MK14 5BU Milton Keynes Email: infoline@starlab.co.uk







| EN 16523-1 | In compliance |
|------------------------------|--|
| EN 374-2 | Level 3 |
| EN 374-4 | In compliance, determination of resistance to degradation |
| EN 374-5 | In compliance, requirements for micro-organism risks |
| EN 420 | Wells |
| EN ISO 21420 | In compliance |
| EN374-3 / EN16523-1 | In compliance, splash protection |
| ISO 16604 (Part B) | In compliance, protection against penetration by blood-borne pathogens |
| ISO 18889 | In compliance, G1 |
| PPE Regulation (EU) 2016/425 | Personal Protective Equipment (PPE) Category III |
| Regulation EC 1935/2004 | In compliance, food contact |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD

5 Tanners Drive MK14 5BU Milton Keynes Email: infoline@starlab.co.uk







More informations about Microflex®, 93-843 Glove, Powder-Free, Nitrile

Everyday, advanced nitrile protection

> Comfortable nitrile protection for everyday use.

Recommended for use when:

- > Contact with chemicals is a standard activity each day
- > Excellect chemical splash protection is needed
- > Glove strength and protection are of great importance
- > Working in environments that demand consistent grip and reliability

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD 5 Tanners Drive MK14 5BU Milton Keynes Email: infoline@starlab.co.uk







All Variations

| PRODUCT NAME | | PACKAGING SIZE | ART. NO. |
|--------------|--|----------------------------------|-----------|
| Men na v | Microflex®, 93-843 Glove, Size XS, Powder- Free, Nitrile Size: Extra Small Create PDF Data Sheet | 1,000 Pcs. (10 Boxes × 100 Pcs.) | 93-843-XS |
| MOT FAR TO | Microflex®, 93-843 Glove, Size S, Powder-Free, Nitrile Size: Small Create PDF Data Sheet | 1,000 Pcs. (10 Boxes × 100 Pcs.) | 93-843-S |
| Moon Ass | Microflex®, 93-843 Glove, Size M, Powder- Free, Nitrile Size: Medium Create PDF Data Sheet | 1,000 Pcs. (10 Boxes × 100 Pcs.) | 93-843-M |
| MCR AAS | Microflex®, 93-843 Glove, Size L, Powder- Free, Nitrile Size: Large Create PDF Data Sheet | 1,000 Pcs. (10 Boxes × 100 Pcs.) | 93-843-L |
| Men Ass | Microflex®, 93-843 Glove, Size XL, Powder-Free, Nitrile Size: Extra Large Create PDF Data Sheet | 1,000 Pcs. (10 Boxes × 100 Pcs.) | 93-843-XL |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.



5 Tanners Drive MK14 5BU Milton Keynes Email: infoline@starlab.co.uk

